CTET PRT Question Paper 21 January 2024
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Reason (R) Supporting students to uphold their cultural identities |
Choose the correct Option
(1) (A) s true but (R) is false
() Both (A) and (R) are false,
(3)  Both (A) and (R) are true and (R) is the correct explanation of (A)
(4)  Both (A) and (R) are true but (R) s not the correct explanation of 'A.']' - G—_
MR (A) : frere wreaww W famfvi siegfaw Fm @1 3 T ] T AN

ST (R) faearfei %1 T wtepfaw oeems W @A W F feru swd WA WO, AWEA F
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acilitates learning

= fae o

(1) (A) @1 ® &fF3 (R) mom By

(2)  (A) 37 (R) =1 e F
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(4)  (A) 3 (R) =5 wh § afas (A) #(R) w0 S aw w1 el

-

2. Socio-constructivist views of leaming advocate that -
(1) Effective learming ts activated by lectuning and explaining
(2)  Effective learning takes place through the process of recall and rehearsal
(3)  Leamers receive knowledge passively from others
(4)  Leamers actively construct knowledye
T F wnfaE - qeEEnn fFEn  m am w1 awen 509 €
(1) =@ 29 57 wmge 7 vl foem wfFEs am @
(2) wemmm sfn dema = faas sfim 3§ g foem o €
(3) fmnwdigwei 6 fAfwa Fn d a9 wq w3 €
4y fmemdt wfza Fm R 7 % o wwm §
Cd
3. Which of the following statements is not correct about learning ?
(1) Learmung s tacilitated by social action
(2)  Learming as a product rather than a process
(3) Learmng depends on learner s previous knowledyge
(4) Learming imphes reorganisation of prior conceplual schemes

frefafmadasamesm AumFan S 7@ FE 82
(1) #fumm mrnfas fF gm s ot &
(2) v uw wfEm Ae ST vE T R
(3)  sfvm fonnedi & yd 39w ko wm §
(4) sfmm @ A gl Fior T F prelza A

-
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indicates that dw\-vlnpmvnt b

(1)  Linear (2) Proumodistal (1) Anarchie (4)  Cephalocaudal

e & v i oW ey Tt Eee WA WEE U Hem fawfan = ¥ 7 7w *fw fawm

(1) it (2) wumegnfygam  (3)  STTAR Ay v
‘ - - ; = 7
S.  Reasoming, thinking and problem-salving are explained in which aspect of development
(1) Moral Development T (2)  Motor Development
(1) Soaal Development (1)  Cogmtve Development

fawm & fam wrg § o, fama i wwen s w1 =men i A 87

(1) Hiaw fawm (2) wfaw fawm
(3) wmiET faam /L-'l?" AT fawm

6.  After getting ‘out” in the game due to the rope getting stuck in her leg; while jumping Anu says lhn:
¥ T LY »
the rope deliberately got her out. Atwhat stage of Jean Piaget’s theory of cognitive developmen
do children reason like this ? iy
| i
(1) Sensorv-motor stage ~_ 1 (2)  Pre-operation stage

(3) Concrete Operational stage ~— (4)  Formal Operational stage
% = foara & saEens faam fMgR # FR s i s m A F S A €

(1) TaE =EF ST _AT)  yE-TER sae)
(3) W@ HiwEEE e (4) e wiEmeE A

~3

Proximodistal principle states that ininfancy :
(1) development of language occurs rapidly as it is a sensitive period for development.

(2)  Physical development occurs rapidly with the development of fine motor skills.

(3)  the limbs continue to grow faster than the hands and feet.

(4)  development proceeds fromhead to toe.

st frrgia wem ¢ i dvaas & -

(1) mmfa?smﬁeﬁﬂﬁm%ﬁ%ﬁjaszmfﬁmﬁmmﬁ:m
oy e s I i e o A e faam 0 A e g

(3) ‘#ﬂ~nrﬁﬁnfrﬁ?ﬁmﬁﬁiﬁﬂwﬁmﬁﬁl

(4) fawm far @ ufa 7= 7o ¥ .
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| on what they already know

N J\“ i
, Crtin _
MHA) © Leamers conetruct thelr own knowledge base
ledpe belps learners g,

Hl‘ﬂ'lnn . | ' g bnow
(R) Finding poatterns and making linkages with previous &
Process intormation lm'.lnlm‘;fu||_f.'
Choose the correct Ophion
|

(1) (A) s true But (R) s false \
. )

(2} Both (A) and (R) are false -
(3)  Both (A) and (R) are true and (R) 15 the cordicet |.'-.p!.m:lli-'n of (A).

(4)  Both (A) and (R) are true but (R) 18 not the correct .-1phm.ﬂiﬂn of (A)
Wumas (A) : fomad] w1 wrd @ A & T sap we s @ @ TR E
Gz Frm ol foud 3@ F v s wm A foantd F1 TAAFT W WMEE T oq

s w7 3 g7z faEd

=it fawes =3 .

(1) (A) 5171 ¢ &fF= (R) 7o #

(2) (A) 3T (R) 241 e &) |
A%) (A) = (R) 2 T E 3 (A) F(R) S e E

(4)  (A) 3% (R) =i =01 § OfF3 (A) T (R) 78 -o5=n 90+ 6

Assertion (A) : Childhood is experienced ditferently by children across cultures,

Childrens” development is universal.

L J !
— 4

Reason (R) :
Choose the correct option :
(1) (A) is true but (R) 1s false.

(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) 15 the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
WIHTT (A) : T GE TIGA - P FEFaA] W - 5E0 a5 sva fEm smm #

1T (R) : a1 @ T mrndhfas )

(1) (A) 50 ¥ @fF (R) 7o 2
2)  (A) T (R) = A E r

3 (A) 3T (R) = wAE sl (A) #1(R) HE mrr_?nm i
(4) () #fT (R) EE T E Afa (A) @ (R) 76 @R TE @
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10.  Assertion (A) © In Lawrence Kohlberg's moral development theory children move from ‘
understanding consequences of acts to determine whether they are pond or bad
o umlvnt.nh!lh}: that rules and laws are flexible and can be changed
Reason (R) Lawrence Kohlberg argues that moral development oceurs progressavely instages
Choose the correct option
(1) (A) 1% true but (R) s talee
(2)  Both (A) and (R) are false
(3)  Both (A) and (R) are true and (R) is the correct explanation ol (A).
(4)  Both (A) and (R) are true but (R) is not the correct explanation of h“'_
wRrwem (A) ;s FEEan & 3 s g a=1 a1 3% ufrony & ST W A= W A0
- = & + = . > _ 2 L a2 5
nEa |, A 9ER W g § o fam sl A 1A E i g7 A HHd €
0T (R) : Ftn FrperE T T ¢ T ATt wiew w9 8 s |
(1) (A) 7= ¢ @fda (R) e B
(2)  (A) 307 (R) 71 e
A% (A) 317 (R) 211 T £ 30 (R), (A) 31 A/ S0 & 4
(4)  (A) S (R) 2w & AfF (R), (A) T 7570 smen T6 F7 4
11. Which of the following statements about inclusive education is not correct ?

(1)  An inclusive classroom “accommodates differences in language styles and promotes

q,_'n"ﬂb{'tl'ﬂtjlﬂ'ln.
(2) Annclusive classroom centres around “fixed curricula and standard assessment .

(3) Inclusive teaching means “teaching in ways that do not exclude™.

(4)  Inclusive teaching means “adopting pedagogies that support needs of all learners”™.
Crefertoya § 7 W T FR FEGA o F a H 6 A6 80

(31 U T Fw s A | AT T O wEA & s wEam ) arE w2

(3) wEEE e s T ‘i3 il A e o afega AR

(4) wmET fawm w59 E oy SOOI WY SR A T fereieA W S w AR w0

[
12.  Lev Vygotsky proposes that is important for self-regulation in children.
(1) .:Hu.inptnlinn (2) Organization  (3) Disequilibrium (1) Inner speech
9 AT WEad i € ® T= ¥ - & @ weey €

A AFe (2) HIEA (3) I (4) T =%

13. As per Jean Piaget’s theory of cognitive development, which of the following ability distinguishes
concrete operational thinking, from Pre-operational thinking 7

(1)  Hypothetical reasoning (2)  Object permanence

(3) Coordination of senses (4) Decentenng

S frar & e AW & fagi & sean, et § 8 FE- wA A - HiFaE 7w
vd - wfFaTE WA W A w6 €

1) frafem afde (2) @ i
(3) Ifza @ w7 (4) Tadem
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ability to evaluate information

14. “"_luch of the following types of questions can help assess a student's
critically ?
(“ Qu'-‘ﬁlh'ln\. that ask for L"’!--'Il“["t"- that vahidate the text
ﬁ
(d)  Questions that ask for a summary ob a texd
(‘1} Qlll"-hunq thal ask lor a _-..in”!h' Jetinition of & lerm

(4)  Questions that ask for the student’s personal opinion AR " y
5 8 9 fam g % WA UH 073 ) AR T R EY A i w1 w A THETT F34 9
RECEE TG

(3 A R W WE W W= w7 A el & o ged
(2) @ wvd & faw ws = Awiw s §

(3) AW F wR w FrE qfoymn F AU gea ¥

(4) 3 WA 1 O ! =fEa 7@ qed §

¥ ; & ] i " . 7
Which of the following aptly defines relationship between cogrution and emohon ¢

15.
(1)  Cognition influences emotions but reverse 1s not true.
(2) Emotions influence cogmtion but reverse is nol true.
(3) Cognition and emotion are two independent systems.
(4)  Emotion and cognition are interdependent on each other. | ]
Frcrferfor 1 B 39931 TR HAE S0 A a9t gay ® IvgE w3 g w7 e
(1) HqA TE137 & uwiiad &741 i_-' “ifF5 o= fawmm 7= crilk
(2) MIEATD HEE F ANIEA FAT T AR T fawa 7 1 T §
(3) HTH 3 v, 26 sads wonfer € )
_4) N 3 R SR W U W s = H it F7a T

16. Language development in primary classes is faalitated
When teachers ignore and dismiss the mother tongue of the children.

(1
When teachers begin from signs and symbols rather than concrete objects.

(2)

(3)  When teachers use concrete examples to refer to abstract concepts.
(4)  When teachers stress upon and enforce the use of formal language.

wrafirs wansil § s w1 faem f/s wan FaiE o v

(1) & faws 7= w1 G F s s 30A w0 €

(2) FE fonrm qA wqan & ema Wadl s iR 6 qE FTEL

(4) T fowrs sfo=fiw wm % wam @ S6 3d @ 5 38 @] Fd T

According to attribution theory of motivation which of the following is more likely to result in

17.
persistent effort and imprnvu'd purfurnmnu- ?
(1) Internal attnbution for failure as well as success

(2) External attnbution for failure as well as success
(3)  Annternal attribution for success and an external attribution for failure

(4)  An extermal attibution for success and an internal attribution for failure
shgron & s fagin F sqan fsfafas 9 7 s ame i i qea geeiq 51w 12
(1) SAFeral 307 J%er 24 F foo siafrw s
(2) FEGAA 37 FAFAN TN F 7 aed qE

%) e & fau sidftw srimm s swreem & e anwd s
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18, Inclusion of students belonging to disadvantaged groups demands :
(1) isolabon in the classroom on the basis of social affiliation.
(2)  same-abihity grouping ol students in the classroom.
(3)  awareness and sensthization towards diverse traditions,
(4) evidenang and encouragnng wdentity-based stercolypes.,
atam anl | waftva faenfen & sordes % faw .
(1)  Fisra WaEa & s T ER W e e e )
(2) FHR §WAH F {0 w fEenfdal | o | fanfaa s nie)
2) fafaw wrmmst F i SrEsa s sEaaviEs EHEL a1 =mfeu )
(4) wrEE-simaf wza = v s wenfea fam s wafeo)

19.  While participating in a sports competition in class, Tanuj tells his friend that he will participate in
the javelin throw and his sister can participate in jump rope because she is a girl and girls cannot
throw javelin. This depicts ;

(1)  Gender equity (2)  Gender stereotyping
(3) Gender constancy (1)  Gender equality

mnﬁmﬁﬂﬁﬁmﬁﬁmﬁﬁmmmﬁmﬁmtfmﬁnmﬁmﬁﬁmﬁmmrqﬁ
Fd H 3EE Aw feen @ Fgwa § F=iiE aw uw wza @ sft wrefaa wen T W WAl 90
1 wafvia ¥

(1) T2 W A7) = wfgafem
(3) HBL Haudl (4) ST HEEE
20.  Which of the following is a typical characteristic of Dyslexia ?
(1)  Difficulty in physical coordination (2) Difficulty in spatial awareness

(3)  Difficulty in creative problem solving — (4) Difficulty in phonological processing,

Frmfafaa 1 @ 935 a%a #1 v fatee fawm 59=-3 87

(1) wmifes =g § FfEn (2)  wafEw wwm/AEEE) | wfe

(3) T W wEME H e (4) AR F W W g
21. Problem solving is fostered by :

(1) Passive imitation (2) Response Sct

(3) Divergent thinking (4) Functional flixedness

frefataa § @ #19 T TR T FEME w32 26§

(1) fAfErg sE™ (2) vﬁ{rsrm 7z

g2y sgEn faa (4) AT

22.  While divergent thinking convergent thinking
(1) Promotes mathematical abilities; promaotes verbal abilities
(2) Promotes verbal abilities; promotes mathematical abilities
(3) encourages multiple answers; 1s fixed on one correct solution
(4) is fixed on one correct solution: encourages multiple answers
(1) ﬂﬁmmmaﬁmmgwmmﬂmm?
(2) ﬁrﬁﬁmmmmmfnﬁmmm%mmm?
(3) % 391 F WeTed F & O w0 e W R
) waﬁmmmﬁmt;ﬂaﬁﬁﬁmm%

7 K
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; - . . b
characterised as formative assessim nt

23.  Which of the (ollowing would not be o
v sludents as per a standard set of critenia,
'

(1) An assessment tash that is hvlpful in comparing

(2)  An assessment used to identify misconceptions in a student s learning. I -
(3)  An assessment given at the beginning ol a new concept o determine students priog

Lnl“’i'll‘;lr:l_i_
dback to students and teachers,

(4)  An assessment given during the class to provide ongoing, fee

(1) v& ge=aiwa &1 A T UF WA QUE % sppEn o w e H 8 A v

quwmmﬂmnw'mmﬂvmma'ﬁﬂmfmmh

(2)
(3) nrﬁ&:qﬁmﬁﬁ'ﬁﬁﬂm%nfmm?ﬁimtm#wmnmﬂm:&mm|
(4} arsi sfe forgl w1 syt wiagie wem w0 F e g @ s 1 E qeErhe |

. - - b L4 ¥ 4 o - 1 ?
Which of the following is a characteristic of effective feedback in the classroom ¢

24.
(1) It is only focused on the outcomes,

(2)  Itis timely and specific,
(3) It is given only at the end of the task.

(4) It is broad and generic.
faeyfafaa § A 3wdnit wiag= w1 & fava sE-5 ¢ 7
(1) = Faa ufrorsi o3 Ffza g T
(2) @ wmimE s fafere @ # o
(3) TE Fad F & a9 6 31 5w
Sy T T i T3 vl ¥
As per Howard Gardner's theory of multiple intelligence, which of the following set represents
correct match of intelligence and associated characteristics ?
(1) Musical : performance or composition skills

(2) Spatial : skill of appreciating the natural world
(3) Intrapersonal : skill in understanding and relating to others

(4)  Logical-Mathematical : skill of dance or athletic abilities
T e % AwatE ¥ (e ¥ R, Fofaran § 8 9w i 4 s e waie s F w0
T w1 Al Fn €2
(1) FAwa ; waeid ;W T wE F me
(2) TufAE : WA amET w FOe w7 & DI

{3y sadniEE ; gRG F A 37 =9F Wa HaY T FE F e
(4) wfE=-noEa ;. 5 W wrg-waKt e

26.  Which of the following correctly describes intrinsic motivation ?

(1) Motivation that comes from competition with others
(2)  Motivation that comes from a fear of punishment

(3)  Motivation that comes from external rewards
(4)  Motvation that comes from personal enjoyment of the task

fefefad 9 |1 #m swafrs s 5 |& 9o F3a &7
(1) Wm0 370 & g fgei |9 &
(2) FWIETM A TEF v 7 I
(3) ST N A [ A S
_(3) TN A F F - sz | s

P-1 IEI RN min 8 K
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30,

Which of the following s a key pPrnaiple of propressive education ?

(1) Leamung should be based on
l:‘l Curreulum should 'L"“

authentic tashks

» predetermined and universal
(3)  Standandired testing: 1« Ui best w

ay to measure student learning
(4) Students <hould v P

assfve redipients of bnowle .,Irl from their teachers

frefarfmm 1 A mmwwﬂr}f'nrnﬂrrrmﬁr'm?f

,J.'n mm Ili" HED 11‘ﬁ X l‘ ; 'ln’fn m-—lﬂwl

IEEICAE LI CRERILE ="' “ﬁ‘ﬁfﬂ'r T Tt )

(3) VT F I TTWTﬁvmfmamm sran it &
(4) mfmﬁmnm"nﬁﬁamwmm'ﬂﬁmi

ln't'[‘_'ﬂiﬂ“t'l“ s a condition, while disability is a _ condition.
(11 opuerative, physical (2)  social, psychological
(3)  biological, functional (4)  functional, biological
v Uw =3 2, W=t 3w v frafa ®1
AN T, e (2) HpniEs, w=EamEE
(3) q, I (4)  FaETw, Jaw

Which of the following are ¢ \In‘lpli"i of scaffolding ?

(@) Think-aloud ~ (b)  Prompts and cues () Questions
(d) Hall-solved example -"'I (¢)  Rote Rehearsal

(1) (a), (b), (c), (d) (2)  (a). (b), (). (d), (e)

|
(3)  (a). (b) X (4) (@) (), ()
9= 9 1 71 | e w ':zgrrm 27
(a) =TE T AN 1;.*;'I ' (b) H&a 3w T () WA
(d) I fEmEn =™ (o) W= A
T (a), (), (c). (d) (2)  (a), (b). (c), (d), (¢)
(3) (a), (b) (4)  (a), (b), ()

According to Kohlberg's theory of moral development, at what stage are children self-centered
and see thetr own benefit in doing something, ?

(I) at the third stage in the second level

(2)  at the fifth stage in the third level

(3) at the tirst stage in the hirst level

(4)  at the second stage in the first level

m?ﬂwmwﬁmwwwm ARThT=a o1 ¢ 307 fansdl =7l =) 93 § SO
ARty ol ""W

(1) Tﬂwmﬁﬂf?‘-mn?j]
(3) WW‘?WWP)
(4) TEA T FH gEr Ay )

# R

Ui

Bt mynm — 9 K
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PART - Il [ ¥TTT- 11
MATHEMATICS / TRT|a

Direction : Ansuvr the following questions by u‘h'rrm.q‘lhr correct /most appropriale oplions

|
Which of the following statements is correct 7!

31.
(1) Tis both, a prime and a composite number
(2) T ts neither prime nor a composite number |
(3)  1isa prime number |
(4) 11s a composite number
frafafas w8 7 599-3 %93 |qH 82
(1) 12 ®, U% v 3 s Jem |
(2) 177 3T & ST TR W R
JA) 1. T A RS R
(4) 1, TF 9 FEw §
-
32.  The number of degrees in :'-j—_; right angles is :
(1) 240 (2) 330 ,(:ﬁ’_ 210
-, (
2w | fzfral 1 wem € {
(1) 240 (2) 330 A3) 210
33. A is alwavs a regular polyvgon.
(1) Pentagon (2) Circle
(3)  Isosceles triangle (4) Square
L HZAd FH AR Fa1 ¢ |
(1) T2 (2) T
(3)  wEfEa A A

{

|
I..
|

P-I ERTIN RN 10
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14, The parcel sending rates are given below ; ;
- o L * i T : :. !li
Parce]l welghing (50 grams or less) @ T 15,00 parcel welghing (for evers additional 50 grams) |

. Thie narcel wole - . at the
Meena wants to send a parcel to her friend Charu in Delhl, The parcel weighs 350 y, Look at the

charges and select the correct cost ol sending the parcel

(1) 55 (2) 57 (3) T4 4) TS0

urid| WA W AR Do ¥

vt W7 M (50 T 3 I W) < T 15,00 WpEw w60 (TR sfafraa 50 s % fam) (T7.00

mmmﬁwﬁmmmt.vﬁfﬁﬁﬁmmﬂﬁmtm35¢1};tnzﬁﬁv‘:’r:rmwrriﬂﬁﬁ
(1) T35 /(J} R 57 (3) 42 (4) TS0

i ' 5 iplicity of ‘hes' in teaching mathematics T
354. “’hkh ﬂf lhll" fn'“'l“'t lng i!' nol true ﬂl\ﬂul “'luluphrl[} O ﬂppr“ﬂt . ’

' | ' | : st natural
(1) Olfering such a choice allows children to explore and use the npprn.uh that is most na
ancd casy for them,

(2) Itis crucial for liberating school mathematics from the tyranny of the one correct answer.

(3)  Very often, there are many ways of solving a problem.

(4) It hampers the learning of child as it leads to confusion.

rfer o fevae § fafvm wam & i’ i fe Frafafo 5 3 F-H1 °F T 6 7

(1) mm%ﬁmmﬂﬂmﬁﬁmﬁiﬁﬁmmmw&wmﬁaﬁrmﬁmmﬁmmmﬁ
5t =% fom ww wenfas s 3= )

(2) wmmﬁmﬂmwmﬁmﬁwwﬁtmmm

(3) ftﬂimmﬂm%ﬁﬁwmmmmﬁ%aﬁ'aﬁhﬁr
}y' S ST A e § i T AR W] S

36. According to National Curriculum Framework, 2005, which of the following processes are least
relevant in a primary mathematics classroom ?

(1) Visualization (2) Making connections and representations
(3) Memorising formulae (4) Use of patterns

T WA F, 2005 3 STER, UE Wi i Fan ¥ Frefafaa § 8 wh- whwad T
¥ 3 wpfrs §2

X g (2) mumﬁwmﬁnﬁm
T A w1 e wA (4) G (ufTel) w1 3w wen
SPACE FOR ROUGH WORK /7% @4 @ e s

2,50

|- 50 1‘)-“: 10" —\5

Pt BN RIVURLR A K
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37 Which of the tollow g statements is/are most appropriate for the tdea of cognitive conflict in

teaching mathematices *

(a)  Thoughtful efforts of a teacher 1o expose children to ft‘}:""i""‘ conflict can enhance thetr

mathematical understanding

(b) It 1 not useful for promoting mathematical understanding in children.

(€)  Children get confused so cognitive conflict must be avorded.

Choose the correct option :

(1) Only (a) (2)  Only (c) (3) (b) and (¢) (4)

wfory Fover § TararE T ¥ e o e frefafaa § 3 w0 /A wE 7aR 3T ¥

() n'?rm?tfwd#ﬁaﬁﬁmm%mm%mmﬁﬁﬂaﬁnfmﬁmwﬂﬁm
fam W T

(b))  wE w=n ¥ uform wEm W agen 23 % ferg wvrE T #

() HIrErE I | e e #F6iE w a= ufna e €

l.ﬂ] -lnd {f)

wn o= 'v‘:[‘! :
af  wwE (a) (2) FE (o) (3)  (b) 3 (c) (4)  (a) 3 (c)

38.  Which of the following statement is most appropriate ?

(1) Use of teaching-learning material in mathematics class consume students” time for practice.
(2)  Students do not enjoy riddles in mathematics class.

(3)  Mathematics lab is essential as it provides opportunities for hands on activities for students,
(4)  Charts are used in mathematics class as an effective teaching-learmning material.

frefafin § A 319 = wwd J7a) JAiva 39 87

(1) fypsem - stfvrTs TR @ WA oA @t wean W i W o W W =5 w6 AW v

(2) ferendl nforg = W 8 wirferl § SR 9 €A
43 nfora w1 Fra s ¢ wife ar faavia nfafafual w= s vwm @ e
(4)  =rds ofor w1 W W wa g fgn- sifvr s
SPACE FOR ROUGH WORK / T% @i & fao s
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1w Yarmuna theew a die 10 timees andd pot the following results
T Y6 A 1.4511V2
:\'-_hh h of the followmng numbers she got the mavimum rumber of hrnr-.!- !
(1 1 () 5 (1) b (4 3
winT 2 U% W |0 W T # @ el e e T

e 1 AN 145 3 31

ety Thwms € B IR wfuers ¥R o den TR Rl i
2
(1y 1 (2) 5 (3) & %)
& ¥
&0, Whach of the lollowing s true for word prnhl-'rn! in « hool muathemabcs
(1) Word problems are tmportant in secondary classes only N
-4 y s utnl e - P Es 7Y% - . 1 Y f"'l.! *+ N numl*ﬂ"ul -
() Wonl problems focus more on procedural knowledy | 3 i a form wherte
(Y)  Word problems refer t0 exercius where the chuld formalises the situatan tnto
a specifi mathematical tchnigue can te apphied
(4) Word rr-_vhl--mx are not {:‘_IJ[HPIP'. of mathematical modelling
f#=#ﬂﬁ11fff:aﬁq-ﬂqu=ﬁrffﬂiiga:ﬁr:aﬁiirfﬁ11nirt?
(1) TEE AR FAA SnAtee wwis 8 Sy 60 1
(2) TWTA TETAR AiA | el R W shey Ffza w3 F o
(3) .TﬁﬁﬁTTFF=E??‘Fiﬂﬁﬁ‘?ﬁ--d'ﬁ!?ﬂﬁ‘ffFﬁ”IEﬁTﬁﬁ%ﬂﬁIEﬁf?F‘EﬂT3ﬁTaﬂTE'T==1Fﬂ, fzm=
7 rierim weTE W oA fvm oW EE)
(4) TE AE TivEE R & e 9 A

21. What should be cubtracted from the sum of 99609, 099 and Q4G o obtamn 5434

(1) 2536 (2} 2563 (3) 2356 (4) 2365

25454 WA FT3 F AT 9900, 6069 3T 9000 ¥ T H F FW WA T/

(1) 253s _~12) 2563 (3) 2356 (4) 2365
42. One mllimetre ts the same as ;

(1) 00l m (2) O01m (3) 001l cm (4 01 cm

s teroatre CrC Ul A

(1) 001 m (2) 01m 2 001 cm (4) 0.1 em

$3. A frop jumps 3 steps and a rabbit jumps 7 steps at a time starting from a place O. At which of the
'II‘.'IINH"L"&;.’, steps, they both will be jumping together ?

(1) 378 (2) 354 (3) 343 _ ‘m ‘3?1 o
ﬁvﬁmoﬁﬂﬁummmammﬁm?mmwmhﬁnnnfmm
71 % 21 Uw wG wEm #men )

(1) 378 _47 354 (3) 343 (4) 371 L

SPACE FOR ROUGH WORK / 7% &Td % fam, =g

L T

o A0°%
ﬂllﬂ

a ﬁ" o

h/ﬁ

0w
1" u,,.‘"'

» 0
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Which of the h*l!nwmn model s least appropriate to develop the conce )
s

ptual understanding

44,
regjarding the relationships of ones, tens and hundreds in carly grade learne
(1) Abacus (2)  Place value chart
R) Dhenes bl ks (4) .".'Inndr'_'.‘ -
freiferfom 9 3 w43 m wtza ypesqrdt w3 ool o pord, zond 3 A & 7@ F A0 SETIEE
wow fawfam w73 & fim was o awge 87
(1) o (2) TN u W
(3) T s 4] T
45. How many packets of Il'*' ke salt can be made from T_: kg of salt ?
(1) 72 (2) w0 (3) 45 (4) 60
71 hg FHE A %L,;thﬁ#ﬁzmmm??
2 o p.
(1 72 (2) 90 (3) 45 AT 60
46. A student of class [l solved 26 x5 as 26
X 5
1030

Revisiting which of the following will best remediate this misconception ?

(1) Recalling multiplication tables

(2) One to one correspondence

'3} h'll“i]ﬂﬂ‘-’l"”ﬂ o o '-h}:“ I"_l_r O11 'L[Ij:”
(4) Ci‘ﬂfl‘["t of n';:mu[-.ujnﬂ

w3 11 F U famd] 3 26 %5 % ITH WK 7 fadl

fr=fataa 9 3 @0 e 13 il &) quia & 8o 338 399 2 2
P UPTE] @1 WA |

(2) vEEl FHaf

(3) UF HE TN UF HF 7 oM

(4) AANEIETT F AT

SPACE FOR ROUGH WORK / 7% &1d & faw s

Y
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A

(E: Scanned with OKEN Scanner

Downloaded From Karnataka Help.in

(3 Scanned with OKEN Scanner



v, Which of the following is/are related to early number concept formation !
ia)  One to one correspondence
) Mierarchical inclusion
(<) Rasic operahions

Chonse the correct oplion

(1 (a) and (b) (2) (b)Y and (¢) () Only (a) (4)  (a) and ()
frferfom o @3N /R sy wen smoaem & a3 i | Y,

(a) UHWY HOiA

by wrEEiEE wEE
() wenyd wiwan
ﬂ'ﬁ fas= Tﬁ - )
(M) (@) 3fF () (2) (b 30 (o) (3) wE (a) AT (@) 3 ()

¢k, National Education Policy (NEP) - 2020 talks about “Knowledge of India”. Which of the following,
are not included in it 7

(1) Field vasits to different states as part of cultural exchange programimnes.
(2)  Formal examunation to assess the knowledye pained by the students,
(3)  Knowledge from ancient India and ll‘i contributions to modermn India.

(4) Tnbal knowledge, indigenous and Irmhtmn.\l ways of learning as part of vanous subjects
like Mathematics, Astronomy, Me ‘dicine, Agnculture ete,

mem fawn ifa-(vAdd) - ﬂﬁu”mmm“mmnmmm fretafaa o A wn 7o wisiem
i

(1) WHmwmw&m%ﬂﬂﬁTWWWMI

(2) et & wm § gtz ¥ sreer e shenf wiwm)

(3)  sTAE i ufa W R e A 3EE A

/m fafus fame 2@ 7imm, A faam, =t wf wenfz & oS & w9 aafzarh am, stom &

$9. The value of 253 %5-35+5-3x 185 is:

(1) 95.0 (2) =265 (3) 2B3.05 N 640
253%x5-354+5-3x 185 W WA 4
(1)  95.0 (2) —26.5 (3) 28305 (& 64.0

SPACE FOR ROUGH WORK / % @ 3 e wrme

s
nG |
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50,

- i

_r &

Which of the tollowing 1€ most appropriate to introduce ‘Data Handling” at primary stage ?

(1) Showing population consus of o aty for five years and askeng students to compare population
!:fuu'th. 1 { )

[:1 [:’r.lu’lhﬂ A l"'.'lf ?'_l'.]‘ih on the blac kboard and aul«.in}; '+IU?IF1"II|!'- to read the data from it

() Asking the students to read time tables of bus and train lllf}lnj:‘*.

(4)  Within lassroom, collecting statishics ol students’ lu-mhll;_ favourite food; colour; cartoon el
and asking questions related to data, !

iEE T owr  asian) = wava ¥ ufrem F few fnefafom W] TN IR R

(1) faenfelst 37 o wive %01 gia w3 & 90953290 7 fram iﬂ;ﬁﬁﬁtmquﬁ:ﬁmm
W FEA S

(2) vumig W uw wE-sne fawited w00 she frnfdai @ 398 & siws 51 ved & fav e

(3) faenfidai 1 a1 i 33 & wma = swm-smfndl 7wl F feao s

(317w H fafei 3 e, I WEEAD AL W, FHA v w ot veg wen sl s

STTA W g

According to National Education Policy (INEP) 2020, assessment of leamners include :
(1) Cogmtive, socal and spintual domains

(2)  Physical and psychological domains .
(3)  Cognitive and physical domains 1 ()
(4)  Cogntive, affective and psychomotor domains I.( J
e famn Si7 2020, ® spm, foanidd w oamwem . O wifum w0

Pe ST, AMIAE, sTefars S l ~

(2) sifew s wEAfas smam [
(3) HIrEew 3 offaw smam ‘
(4) TIEEE, ETTS {1 WENTAS T S

B had a 1“*1'!1' of length 100 metres to cover the land of his choice. He wanted to take the biggest
land. Which of the following measurements should he choose to take the bigpest area ?

(1) 25m >x 25 m (2) 5m > 45m

(3) 15m x 35 m (4) 30 m > 20m

FAF TR AT GEE F AR T F 0100 2 W AR @) T T8 wm i w wwem s s
Frafatan & 3 =3 fem wm w1 g o i wifs 0 9= = dera sifaam 7 7

(1) 5m x >m (2) Sm > 45m
(3) 15m x 35 m 44) 0mx20m

L]

SPACE FOR ROUGH WORK / 7% &4 i:‘u_rf‘n'q T
L.()
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N,
%
¥

S
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Which of the following statement s least appropriate for epcouraging mathematical learning 7

-l 4 (1) Mathematics leaming i not gender specific.

ation () Discourage intuition as it hampers the Jevelopment of mathematical idvas

I (1) Fatlure does not imply that students cannot do mathematics,

. (4) Everyone can feam mathematics.

" hﬂmﬂﬂm-mmﬂmaﬁm;m\mmthﬂﬂmﬁ?

_ (1) e s S fafeee wd am @)
e 2 vt W) e W e @it e o il W frwti w0 3w s
'fm st W v w7 W o ferend] nfeor ol e wER |

(4) i for st wE §

.

I H :\. nl.ln'th'f l‘f‘ﬂ'mlﬁ dljuhll‘_‘ 'i[ i[ i_‘ imfﬂm l‘}' B. ‘xflml i_! thﬂ numh‘tr ?
(1) 12 (2) 16 (3) 6 (4)
T WA ﬁmaﬁ;ﬁmmﬁtﬂtmﬁlmﬁtlmmmﬂ'ﬂ?

(1) 12 K 16 (3) 6 A& 8

535,  Which one of the following costs least ?

8

(1) 7.5 dozen items of ¥ 750 each item
(2) 75 dozen items of ¥ 7.50 each ilem
(3) 75 packets of ¥ 750 each

(4) 730 packets of T 7.50 each

pest frsfafan § 8 e arm T w9 802
(1) T 750 Wew R Al 7.5 T a0
(2) T 7.50 Ve A A 75 w9 w0

| _
(3) T 750 ¥ GEFe A 75 YW
| AT hsnmﬁhaﬁmnﬁre
— SPACE FOR ROUGH WORK /mmt fou =

— _}
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56 “-}"lh ol the f“"”“.i"r 'll"ll’ﬂlh] v the characternishios ol m.ﬂhﬂnmlir.ll I;Il"lﬂuilﬂl' ol prinmq- Ip\'rl ?

(a) It should P Prvvise.

fh} [t must e .lnll‘l}:‘-l.ll‘lll'- |
(€) It should be remnforced through child’s language used in everyday life.

(d) It must be highly technical as it will help students to communicate accurately in mathematics

Gh‘h'ﬁr I]‘Ir correct nplll"n :

(1) (a) and (c) (2) (a). (c)and (d)  (3) (a) and (d) (4)
Eretafom § & 3335 wfss w0 97 e v w5 favrd e e, ?

as it can add openness in the sulyect

(1), (b) and (c)

(a) W WEw T =l

(b) a7 s gt i aE A faa 6 e A6

(c) = % S s § Tedm w1 A Al I e J ) yafen e e e |
(d) Wawﬁwuﬁiﬁmmwmmhﬂﬁwwnﬁmnﬂnwmamwﬁl
wit fawe 9

\y}’/taﬁfﬂ{c}

¥

[E VO ()3 (d)  (3) (a) 3 (d) (4) (a). (b) 377 (c)

57.  Which aspect of evaluation is used when a teacher ensures that test made by her fulfils the objectives
and criteria of that test ?
(1) Reliability (2) Consistency (3) Validity (4)

mmwmm%ﬁmmmmm,w%ﬁ#ﬁﬁﬁmﬁaﬁwmim

weriEa & s e @ 3yam fem @7
(1) favasdmm  (2) g4 \,%J/‘élﬁ‘ﬂ (4) =EEEA

58. See the number pattern given below :
1, B, 27, 64, 125,
What will be the next two terms ?
(1) 256 and 343
(3) 256 and 289
N o feg o wrE b # 3

Practicality

(2) 216 and 343
(4) 216 and 289

(1) 256 317 343 (2) 216 31 343
(3) 256 3T 289 ’(ff 216 317 289
o SPACE FOR ROUGH WORK / T &1 & feru g —
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The sum of all angles of a triangle s -

g8,
vn'ir.’ 1 80° {2) 3607 (3) ol (4) 9

0. While solving 182
-7

———

. a1l 7 we will
in class 11, a teacher explained that we have to subtract 7 from 2 and 215 smaller mfﬂi:l;}rls?wh\' we
porrow one from 8 and then we can subtract 7 from 12 One student told ""‘ﬁhﬂ : ;:h a qétuat'iun {
are hlﬂil“"iﬂf, f'nm (‘ight. as l‘lﬂrrnh'in[‘, L‘b not H(“po I'Vhﬂl N tp.]'l:h['f .‘ihﬂuld d[‘ in su o !

(1) Teacher should tell the student to focus on learning the algorithm of subtraction
(2) Teacher should ignore the student’s question and continue with her work.
(3) Teacher should scold the student and make him sit.

(4) Teacher should change the word ‘borrowing’ to ‘regrouping’ and then show the process of
regrouping.

S | rJ

swiIH 18
f

—— ——

| ——

ﬁﬁmmﬁmﬁmmmﬁ?ﬁ:ﬁﬁmtmz,ﬁat?ﬁn wfaqziﬁaﬂ
TF ST T T4 ST B 120 |7 W2 w9 qa;a-é{ﬁ spATGa] | g ; AEn) wE 8 H wuE
A T § ) TR A ST @ v TR e | A w F1A1 =t ?

(1) mﬁﬁﬁmmhmﬁwfaﬁxﬁmﬁmmﬁl
(2) mﬁﬁ%mﬂmmmmmmmu
(3) v 1 W W B2 Aa) A el
g mﬁ'm'mﬁmam'm'ﬂw_mmaquﬁmaﬁm
fermrit =nfeu |

o
SPACE FOR ROUGH WORK / 7% & & feny =
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PART - 111 / MT7 - 111
ENVIRONMENTAL STUDIES / 9aiavo] 3eaa+

nih‘u'f:nn S ANSuve s ;,.H,.“.mq l'f“""f"”" by wliy fenng Hie covevet S most umvrn;frinrr (prinns
B st weat % 3 23 % fory W) w0 30 fawsn G137
61, -l':f'-'ll.l statements iitl ‘H“l tl’tl- I"“Iq'fl} .HH’ thien VS W ety ”II‘ 'l"“”“'l”“ 'l-llll"'l“”"""

(A)  Silbawarm con find his female worm from many kilometers away by her smell.
(R)  Sorme female tnsecte release Pheromones” which can be recognised by their males by smel]

Choose the cormmt answier
(1) (A) ts correect but (R) is incorrect.
(2) (A) 1% incorrect but (R) 1s correct.
(1) Both (A) and (R) are correct and (R) explans (A),
(4)  Both (A) and (R) are correct but (R) does not explains (A).
FA (A) T (R) @ v 7 wE e Featates s @ 3w T
(A) : Ty 1 w1 A wm W TR TR wE ez g A @ qeem am
(R) gmnmﬂ%;*ﬂ:fm‘mq‘rﬁrg&?fm ™ F1 7 w2 g ¥
frsafafan 4 & el 3w @ 7
(1) (A) 7w & fE=p(R) Tema &)
(2) (A) 7T & fF=] (R) 7€ T
3 T T (A) T (R) HEE AN (R) , (A) TR S e 8
() = @wa(A) va (R) ®E@ FEE (R), (A) 1 HE e T o

62.  Which of the following best reflects child -centred strategies in teaching, EVS at primary level ?

(a)  [Discussion (b)  Demonstration

(¢) Lecture (d)  Survey

(1) (c) and (d) (2) (a) and (d) (3) (a) and (b) (4) (b) and (¢)
frefafom o 3 319 am-Ff=a ToEa ® /a9 3= 29 ¢ 2

(a) B o (b) m
(c) ZIEaA (d) Fdam

(1) (c) 3 (d) ) NPT 3 () 3 (b) (4)  (b) 307 ()

63.  You wish that students learn by peer-leaming strategies. Which strategy will you adopt to form
groups ?
(1) Make o heterogeneous group based on participation and cooperation
(2)  Form a group of 5 students of same gender and socio-economic background
(3) Make a roll number-wise proups of 4/5 students
(4)  Make a homogencous group of students according to their scores in examination

m:n?ﬁ?f:rmnrm?r PR TorITaEl g A | 3 wgE 9 e 7
By NITET 30T AEA & SR vt Ty aen )

(2) ¥ fefn sfte wot- sifels gy F 5 o W uF gy am)
R 4/5 9T & TR A srm ey w0

(1) WO& R UG 3T F TR O w1 vF 7HE YR 6w

Pl IENF RN 20 K
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- ; ' o TS nnd |HI’ H‘Il' i
pochampalli™ 1 famous district for its beautifully designed bright caloured ;
i ‘I.,ﬁ-ml bind of weave whitch s also called s |m|np.llll 1% o I""t ol
| - ‘arnataka
(y  Maharashtra () Telangana (V) Tamil Nadu (4) Karn
| { )

. - A ' F : TRt F'l"':ﬁ ?-1 m
o grapret et @ feme W) waaan o ) iz she fanm TR S L QAR
¢ ¥ forv fvemma faen ¥ v bnsfatm R e s 2

(n (2) AR [ (3) AR (4)
smael] i v
sead the following statements carefully.-
r“ I\.l :“I I L] A ! . | . o - I Trﬂn.‘ "t_
Gratement (1) ¢ EVS syllabus s divided into 6 themes Water, Relationships, Food, pe
Shelter, and How things work.
Gratements (1) The themens of EVS are close to children’s life.
(1) Statement (1) is true and Statement (1) 1 false.
(2)  Statement (1) is false and Statement (1) 1s true
(3} Both Statements (1) and (I1) are true
(4)  Both Statements (1) and (1) are false
fpatafira = s 1 i -
- crel T icalR > T 1 e ud I @ne
waA (1) ;37T WO W 6 GiE W e T e, Sl 7, e, AT, ST A A
A WAl SN
FaA (1) : HLTH T A —-1;-;1;;1 ita ¥ o
1? (1) e (1) T F T w1 T
() @A (1) A & ud ®wad (1) w5 T
) # wwa (1) v (11) 78 -t
(4) @ weA (1) 7= (1) A T
66. Comprehensive evaluation means holistic way of evaluating a 'illl‘tl'['_nt; _Tht- ways in which an
. EVS E'"whvr can assess her students tor comprehensive evaluation in EVS are
(1) rating scale during assessment of activities
form '

(2) portfolio
(3) teachers’ observation
(4)  half yvearly and annual exams

e yegiaa w3 '.fqa:ﬁmmqwmmmmm"- \ fom wiTE @ uw dHm faw o A

e i S fAn S O SR A w A
Ay mtaf w5 e  fom T m:'ﬂ

(2) e [

(3) fuerwi @ syersmEe ~,

(4) siafie si @fts e

21
K o qunmmmnmns

- |
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following task ;

<2 : . 4 them to do the
67, An EVS teacher taught about animals to her students and as

() Write names ol vanous antmals around them

(1) Moy e activities of didterentd antmals
rartes based on obseryations

(¢)  Classity animals into catey
() Define the term  Amimal

- ot the nature of E
Which of the above is NOT appropriate fo vel as per the nature 0 V5w

r students of primary le

yiomary level ! = *
:11 Only (o) (2)  Only (d) (3)  (a) and (c) (4) (b) and (c)
Sat == Frofarfm W w5 & fAm Fm |

uw tAn fefie 3 9/ o F1 e F an o warm
(a) 3 wm & fafv= T @ Fm @ .
1+ fafv= Fan 7 fafafvmt # sEETEA w0

) DR e :
(c) sreE F saT W ErEEd & Afoal W A w10

() A W i
i § A A I sl T e fer 3ugE

A1) A (¢) (2) WaE (d) 3) @3 N (b))

ad the following statements carefully and choose the correct ophions .
Xylem transports water and munerals from roots 1o rest of the plant.

Phloem translocates food from leaves to various parts of the plant.
(1) (A) is true, but (B) s false (2) (A)1s false, but (B) 1s true
(3)  Both (A) and (B) are true (4) Both (A) '_nnd (B) are false
faw U FEE] F AEgEF T2 UA Wel fawed 41 -
FUA (A) ;. AEEw 74 s A & TR H O F arn! fea aw qgand |
FaT (B) . WEUR WS W ufeE §6 F fahs T 5 At FA T
(1) (A) %01 ¥ 377 (B) 777 7 (2)  (A) 7R ® 3T (B) W
Ay = (A) 30 (B) =R (4) = (A) 3hr (B) = AR T
69. Nina, an EVS teacher of class 5 gives a group assipnment to her students that they have to visit
nearby agricultural farms and find out information about the implements used by farmers durning
agriculture and the type of crops they grow. They also have to collect photographs and prepare a
report. What process shills and learning indicators are involved here ?
(1)  Hypothesising, inferning, expression
(2)  Predicthon, expenmentation, observing

(3)  Questioning, Expression, Infernng,
(4)  Questioning, Experimentation, sensitivity towards environment

T 5 F $ATIR ToieE ST 379A U W) UE [YE STAEAEe 2491 ¢ w3 W i wE & 9 e
sin w5y & A fEaEl gm T R ST A SORT O S R T 9 Al wHel &
FFT WA F § I W M wAa w0 fn w g T W A afwe Fve sie e s

68, R
Statement (A) ¢
Statement (B) ¢

# LE

Hwas A § 7 P,
(1) wirme, steom s, afvefsa
(2) WM, WA, SFEEATEA

(3) A ), st s, gt farern ; §
3y WA A, WA FH), qafa & ufa dagaeea - e

P RENIEEIE 2.~ K
4
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Which of the following sets Jdepicts the themes of EVS at pnimary level ?
(1) Family and Friends, Travel, Natural resources

(2} Shelter, Travel Thlllﬂt we make and do

K] Weather, Water, Travel

(4] Food, Matenal, Shelter

frefafom @ 5 W @ e wufas s g o & o W) Teim 0

.[}'*r. SR -Tdﬁ qu Aqra, m TV
() 3R, T, O MR T E ¢ s

(3) @wm wE, W

(3) W3, 9o, A

Doctors prescribe blood test for patients to confirm malaria. Blood test s done to :
(1) check tor egps of female anopheles mosquitoes in blood

(2)  check for microbes in blood

(3)  check for haemoglobin in blood

{4) chexck iron in blood

T TS § T W YeaE & fou A w1 = w0 F fo R w6 §) g oA A

1y I O gEE F e o 3ufmfa & og@ e
2} THE TSieEE A w9 Swern |

1 = IuiiyE mErEnas F1 949 59 |

b -

(4)  IHE SUTEA FE A W WA W 9al S |

Textbooks of EVS should reflect the recommendation of NCF 2005 of linking students’ life at school
to thetr life outside. This implies :
(1) Textbooks supports students to construct knowledge through all the given activities,

(2) Teachers need to use textbooks as one of the teaching learning, resource.

(3)  Students are compelled to memorise few important concepts of EVS,

(4)  Textbook is the only source of knowledge.

b ) T @ fred T i SR W T A 5 A 8 S w e, 2005 3 e
¥ ufafafaa won fgw) s89F 3 ¢ .

/(Wmﬁﬁmmw%wﬂﬁ%wmﬁmmmmﬁmm &

(2) fm{aﬁaﬁmﬁﬁﬁnw-smmmtﬁﬁﬁﬁﬁmﬁﬁ;wﬁmﬁmmﬁaﬁanavwmﬁl
() faendi EvS % weeEyul saumonsi w1 wE & F e ¥
(4)  WTEOYEE FA F UEAE @b ¢

LRI 23 K
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Ghadsisar Lake i1s NOT true ?

Whic
hich one of the fallowing statements regarding

(1)1t was connected with nine lakes 76.
(2)  Itisin use tll today
(3) King Ghadsi of Jaisalmer got it made.
(4) It was built around 650 vears ajlo.
TR 3w Frefafo ad § @ WA 0w e w6 87 /e I A
(1) 7% ) e | 5= wsn u
AZ)  Tw e R o wam
(3) A = w3 ) 39 o1l
(4) T TNV 650 T WS w9
Seema, an EVS teacher organised a field trip to zoo for her students. Which of the fn:.'IIf.Zt'--.rinEIﬂi
the most appropriate objectives of the trip to the zoo ? ‘
(a)  Recall names of animals in the zoo
(b)  To relate concepts related to animals
?7'

(€)  To promote process skills
(d)  Assessment of students’ learning at the zoo

(1) (a), (c) and (d) (2) (a) and (b) (3) (@) (b)and (c) (4) (b), (c) and (d)

(c) Wiwm Froa =1 wgrn 247
(d) Tafzam 9 ol F drs 57 srees -
8.

(1) (@), ()3 (2 (a) 3T (b) \,P)/(a).(blﬁﬁttc) (4) (b), (c) 377 (d)

Ravi took some water in a ¢l
a glass. He puts a lemon in it - i
water, half a spoon at a time. Aftes Fers g mug:i?:ﬁ keeps adding a lot of salt into th

1 Le its in w
(1) mon splits in water, (2) Lemon remains mid-way in glass of water

(3) Lemon sinks in water. (4) Lemon floats in
Wwaler,

3 EGREChL i Y
(3) Mg 7 _A) T e e

Pt ENNNEINNNID 2 ¢ P
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b, A chapter in EVS testbook of NCERT des tibes Wahida Prism and her experience in the Navy as
a doctor What are the reanons for (v luding this chapter 7

(o) Hor AP e o h*‘“""l].‘_i"' prendey lel’mlh"u-u

||'|1‘| '”pr slirry ;{I\ % A |u.,.r, Ity “w “h. ol a III"lhl dl Hﬂi'- of "| lhp ﬂ""];i‘l '”I’l 1'%

.[.'l l'lhll'f‘~tnllltlll!l'l tht |"”"-ll'l el s 7 colonars
() Understandmyg the difficulties faced by her and her ways of tackling them

(1) (o) andd () (2)  (b), (J) and (0)

() () (b) and («) (4) (b, (¢) and (d)

TAFLE ST W) A N ORI % uw s afrn w fue i st o 2 % o o
sV w) A R od enfee ey i ae o B

(a)  FFE 3T Aiw wfaai Wy i w8

(b))  FIE R ween well 0w fafaoa sifvwT & Sl W) TR WEE i B

(¢) 17 =R W (G 7 1w vt B

(d) FEE WA 9 A wfamed sfr e G & aie ) T |

(1) (c) 307 () _AZ) (b), (d) 37 (a)

(3) (), (b) 377 () (4)  (b), (c) 37 (d)

|
-

Which of the following strategies promotes inquiry while teaching the theme “Food” 7
(1) Asking students to find out food preferences of therr family members,
(2)  Showing pictures of various preserved food items used in different regions of India.
(3)  Asking students to collect pictures of vanious food items.
(4)  Demonstrating fireless coobung of sandwiches, shikanji (lemon water) ete.
Fefafam 8 A A% @ o s ding ) ged am geae w9 T w8
N U R I ufn F e w1 w wE o s e wee
(2) v & fafv= et 8 3wam fau s am fafvy=s afefa am g % forg foam)
(3) o A fafi= mm gl & 99 ves 0 & oo sy
(4) Wmfaw, fams (o ) aftte = fa s & 9Era w weeia

B. Consider the following statements (A) and (B),
Statement (A) : Bora is a common varniety of rice used in Assam.
Statement (B) © Paddy grows well in clayey soil and requires a lot of water.
Select the correct code from the following.
(1) (A) is correct but (B) 1s wrong (2)  (A) is wrong but (B) is correct
(3)  (A) and (B) both are correct (4)  (A) and (B) both are wrong

i foo o Al (A) st (p) W fasm Fifam

W@ (A) - W ST TN ED A AE A R U IR W

Fe () - v @ A fa fogt F s @d B oud vn wEE W owr amn | g st
Frefafum @ wift wrg f .

(1) (A) 7 & =y () e @ (2) (A) A R T (B) T

3 (A) 3 () 2w B (4)  (A) 3Nt (B) =1 e B

ol [T 25 K
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‘Work We Do’ helps his sy,
;rhl-. i“ltl:l‘ﬁ are i:l”l'd Ingﬂh. ﬁz. v

- ol . emae

/9. Alex, an FV'S teacher of class 3 whitle introducing the th he

the -.tnrna o make a mak . i \
chould Alex help his students foq, o

sthetic sense.

ut colourful striips ol paper and weave \OS
& ¥ " 'i".‘

make a beautiful mat Which of the following objects

and  developing, an o

by weavers, E

(]
() If‘-'lrnmﬂ about colours, '[hl'”l'l'"r*
(b) T-‘L‘Ilm].‘, the activiaty 0 Weaving done

(C) memonsing the steps of malunl‘; mal. | [
| -
(d) choasing papers of attractive colours and learming, cu

(1) (a), () and (d) Ei: :;1 {sm;d l;.‘li -

. 1), (C) and ) )
:::ﬂ 1{11}11: :T:i:mf;rw RGEIC RN S & T & dm w Ee m g4 mmmt P
it e ) T S S W T T v W e v T e e 9 ey
fagsm s T ﬁmfﬂfm%ﬂfa‘nfwnﬂr{émrﬁwﬁmﬁfﬁ ‘mmwnmmm;
(a) i A W an o s s wed e fawlim w e i
(b) T wiafafy F1 gAE G F FE Al 96 7 JEa w0 -

ting; of strips perfectly.

N

= N =

(¢) e w A w1 fafv F = AR w5 (4

(d) hw&mﬁﬁfzﬁmwaﬁrfqmﬁ@mﬁmﬁrml (:

(1) (@), () 37 (d) () (@) W (c) (3
A3 (a), (b) {17 (d) (4) (b), (c) 311 (d) i

80. Which one of the following statements regarding Al-Biruni is NOT true ? Choose the come

ANsSwWeoer, EY

(1)  He did not write anything about ponds in India.

(2)  He has praised the making of ponds in India. C

(3)  The place that Al-Biruni came from is now called Uzbekistan.

(4)  More than a thousand years ago, he came to India. (1

A - F an | freifeta w8 A F0-m ve T w9 A 7 /e I 9
(1) =HF WA T 30 WD F A & a0 §o W T e #

(3

AT A A A6 R T A T w1 w6 A
(3) #e-farh 7@/ 9\ 9 W wrAEs TEEE F 7 |
(4

(4) THAT R M) FE WA YA AT WA 57 9

81.  Which one of the following regarding Johad is correct 7 Choose the

. correct option.
II] II PLIH'I]‘.H HHIU “I.I't'-'ﬂh_"r Int[] n{hﬂﬁ)‘- 1,:-“”5‘ P a" It
(2)  Stores water lrom rivers, :lh
|

(3)  Itis a community based rain water harvesting system.
(4) It Alters impunties from water. - ¢

R R R T T TR — of
(1) % SRR E T 8 30600 90 9 v wm by ¢
(2) T AT BT vEmZm g ¢
(3) T FHE S T T s g § I
(4) meﬁwqﬁﬁm’!mﬁl /u%

-

TR 5 Py
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5 What s the mass of an olyect with a density of 12 g/ ml and a volume of 3 ml ?
(1) g (2) 4g | () 15¢ (4) 24y
0 W W EEA T RO O w40 vy fas sz § o s 3 fre we E
(1) m. @) am  ~] @3 15m (4) 2m
/ |

). Read the given statements carefully fhni.,-,[ choose the correct option

Assertion (A) @ We can cook food O:l.i’ﬂl at sea level as compared to higher altitudes.

- Reason (R) At high altitudes, boiling point of water increases.

(1) (A) is true but (R) is false.

(2)  (A) is lalse but (R) is true.

(3)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A),
Fe T e A W 3wl e 1

3w E (A) ; mﬁwmﬁﬁ'ﬁmmm-mﬁmmmm

#1707 (R) v S91¢ W Y LA A e

(1) (A) 53 2 afF (R) 31593 21 !i

(2) (A) FEE ¢ @ (R) 73 T *L'-»":f

-

3y #HT (A) 30 (R) @ & 3 (R), (A) T FE AT

(3) = (A) 3 (R) FE € FfFA (R), (A) T HE 2 ¥

1' It has been observed by bird watchers that there is a peculiar species of birds. The male bird make
their own nests and the female bird looks at all the nests and selects the one she likes the best and

decides in which nest to lay her eggs. The name of the bird is :
(1) Indian Robin  (2) Sun bird (3) Tailor bird (4) Woeaver bird

wiard) @ ﬂWﬁW?WHWW’L%ﬂNﬁWWWﬂ?%ﬁ 3 - 37T W WA
4 wmwhza'«mu‘imﬁmmh mﬂammm 3w oAl ® A oA svE 29 W v

A B wa il AW R |
My~ watad W%I (3) afsda fatzm (4) = |

( _) }
S LR (TR ITT Ty K
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i L "w"'m‘ﬁ

hq l\‘l!-rli"n
The theme Family and Friends’ is a major theme in EVS and "Plants a0y A
Reasan AT presented as a subtheme of “Family and Friends’, M
The interdependence of human betngs and other forms of life |y high)
(1) . thres wpeh themes, g i"ﬁ"'
L _—
() I FHHON s true But the reason ts lalse L{
. | T ' =
(3) B 1 ]". ent of the assertion s false but the reason is true. i{ )
| YUV e assiert
o and reason are co ; :
Nesertior. correct and the Reason is the correct explanation oy,
[4)

T]h LSS
A Crhon and the reason are correct bul the Reason 1s not illt‘ correct explanag
1k It'h'ﬂ"l . H&

“f"ﬂ?‘m- ettt i s i S v wge e b st dd m‘mﬂﬂ'ﬁ'm'tiﬁ'av 7 oy
'E'IluhT-:t‘qr;ﬁtr?nm” . | ‘
Ear: i "‘Tﬂr"ﬁ"r"l".}ﬂTmT&mWﬁmmmmWW?l
(1) 3w 5 ¢ AafsE w1 mem &
(2)  SNFEWA nEm ¥y o R
AT SR st wem A § s s sfves 9 w6 smen
(4) :ﬁx:quammnﬁrﬁﬂﬁmm,ﬁimﬂﬁffﬂﬂmqﬁmh

l‘- !

-,

(1) ln pothestsing, lnfr'rn'ny,, CNPression
L)

B .
{..l [‘h'tih liom l'\[“i‘l]mt‘nr‘llfl‘ﬂ Uh‘rl‘ 'inb

3 : (N
(3] questioning, expenmentation, sensitiv ity towards environment
(4) questoning, ainlernng, expression 1

??Wﬁfﬁmﬂmﬁr"ﬂmmwraﬁ mﬁawmwmwwmﬁummmﬁr
R e s R d IH MAE F o {5 ] 390 ﬂnﬂfmmfaal‘mﬁ
(1) wfrwem, gfmm fEmem, s ™

(2) W, W, STEETE
(4)  guawr, wivemn fFEeEm, sfvefa

87.  The ternitonal states of Harvana are -
(1) Himachal Pradesh, Punjab, Bihar
(2)  Bihar, Pumab, Uttar Pradesh
(3)  Humachal Pradesh, Rajasthan, Uttar Pradesh
(4) Uttar Pradesh, Uttarakhand, Madhva Pradesh
T & #@raad e § N

/N e w2y, a4 fawm
(2) taen, WE@ 39 g2y .

J},/ fenT=al Waw, M, 3 wey
(4) I WA, TANATL, Wy gy

r""lr

O
@

-

..—.—

1

(_
[~
>~
Pt BIEIN BRI N 28 ;s: l
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o8, Consider the following statements about bechives
(a) Honey bees live in beehives Every beehive b
(1)
()

as one queen Bee that lays egps.
There are onldy a fow males Irores, in the hl\'[* which have 4[""1'“‘[' Hﬂl"ﬂ as workers.

Most of the temale bees in the hive are worker bees who work all the day in making, the hive
and aleo Tooking after the baby bees.

(d) The worker bees fly around Litehi

nt"-*-'i'ﬁ in search of nectar for lh.!m_'}'.
The correct statements anye

(1) (a) and () (2)  (a) and (d) (3)  (a) and (b) (4) (c) and (d)
A & U S A e m e w faam wif

(a) TEIEEE AR F oW T € TR ¥ U 1w g & W e T

(h) W“E?’W*ﬁfmfmmmﬁmmmmﬁmmﬂmﬁ -

(©) T S e sfea) afuw st i € o woen @ am si T W o w1 i
T T

(d) AT W e o T W e e s & e e s T @ § e
TN N HE YA T

(1) (a) 3 (c) (2) (a) 307 (d) (B @smm W (o)

89,  An EVS teacher asks her students to think and answer “Why do we feel comfortable in woollens
clothes dunng winter”. This question is a -
(1) hvpothetical question (2) factual question
(3)  convergent question (4) analytical question
TF TAIA Al 37 o A FSen o W 3 F o wed ¢ w wiEE F w8
HAMHAFAE | SHWEF WA T
(1) IEHH 99 (27 dEEE W
(3)  HWER 99 (1) faveomes v
90. Read the following Statement (A) and Statement (B) below and choose the correct option :
(A) : About 4700 years ago, some of the earliest cities flourished on the banks of river Indus and its
tributaries.
(B) : About 1500 years ago, cities developed on the banks of the Ganga and its tributaries.
(1) (A) 1s true but (B) is false. (2)  (A) is false but (B) is true.
(3)  Both (A) and (B) are true. (4) Both (A) and (B) are not true.
fefafan wmam (A) a1 Faw (B) T R 3 92 a9 ®5¢ fawen | vEm w51
(A) - = 4700  yd friy A TR wemEE T & 0 Fe s mowdoga )
(B) : 77 A gHeR] wWorEE Afedl & A TR EE T 1500 949 g6 g
(1) (A) =8 2 fa=q (B) 7T 21 (2) (A) 7T R fae (B) w0 R
A3 (A) v (B) w0 E (4) A (A) TH (B) FE T §

P g 29
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PART - IV

LANGUAGE - | : ENGLISH

(Q. No. 91-120), if they |-

pPart-1V

IMPORTANT : Candidates should attempt questions from
A tor ENGLISH as [ ANGUAGE-] only. —
ns that follow. (91-99)

. u.'ﬂlllli Im:i-, . ‘-h'.' .'mﬂ'-'d.h.
em f['lfj'_'t“t lhﬂt ht_"‘f ;_1 "

nplp

the qucﬁliu

i & L] 1 '!1' F}Il
Yol as «<oon as she saw hime she did not look as Alfred thoug,

oty ade th
and with a calmness and dignity that m vd B T
r, she put oul her hand to Mr. Ca ; _ ¥ T

Read the passage given below and answer

blue eves never wavered,
seemed to hove been thrown on he

Mrs. Fhiggins, I'm Alfred’s mother.” d he hardly }
o §1 ity and he hardly knew o1
Mr. Carr was a it embarrassed by her lack of terror and her simphicity ’ wh,

lo say to her, so she asked, “Is Alfred in trouble

| : : - ittle things like =

“He s, He's been taking things from the store. Icaught hlm‘n.d-hm?r_di d. Littl 5 COmpey
sell easily,” the proprietor said.

and toothpaste and hpsticks, Stuff he can
and touched Sam Carr’s arm with _
“1f vou wnuhi t‘.lnlj.' st
her falter and look away, but =

“What do VOou ity

an understanding pentlen.,

en to me betore deg,

Mrs, Higpins put out her hand
disturbing him, she said,

and speaking as though afraud ot -
anvthing”. Her simple earnestness made her shy; her humihity made e
moment she was smiling gravely again and she said with a kind of patient dignity,

to do, Mr. Carr 77

“| am poing to get a cop. That's what [ ought to do.”

(s niot for me to say, because he’s my son. Yet | sometimes think a little go
is at a certain period in his life,” she said.

t composure, for if they had beenat home and someae
ew she would be in a rage and would aya

“Yes, | suppose s0.
advice is the best thing for a boy when he

Alfred couldn’t understand his mother’s quie
had suggested that he was going to be arrested, he kn

against him.

Study the following statements

91.
(a)  When she entered the drug store, Mrs. Higgins was not properly dressed.
(b)  She looked like the mother of a guilty person.
(c)  Mr. Carr did not expect her to be calm and dignified.
(1) (a) and (c) are right but (b) 15 wrong,
(2) (a) and (b) are wrong but (c) is right.
(3) (a) and (b) are right but () is wrong,
(4) (b) and (c) are right but (a) is wrong,
92. ... made them forgel that her clothes seemed...

The underlined word is a/an
(1) Preposition (2)  Conjunction (3)  Noun (4) Pronoun

P-1 (LI R TIN 30
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95,

99,

which of the tollowing statements i« Not cotrect 2

(1) AU Mr Cart's accusation, Alfred’s mother felt imtimidated.

2)  Yeb she was very pentle in re
(2) Yel sh 18 very gentle N responding to him.

(3) Alfred was a petty thief.

(4) He stole cream, compact and lipstick from the store.

Which of the following statements is not correct 7

(1)  When she introduced herself, My Carr felt stupelied
(2) He felt that he would have to for pive Alfred.

(3)  Athome, Mrs. Higpins would have been enraged.

Outside, her ¢ as like i
(4) conduct was like that of a caring mother.

"..... he hardly knew whattosay to her.'

The underlined is a/an clause,

(1) Adjective (2)  Adverb (3) Principal

Study the following statements :

(a) Mr. Carr intended to get Alfred arrested.

(

1) Noun

(b) Mrs. Higgins wanted him to be piven a chance to reform himself.

(1)  Both (a) and (b) are nght.

(3) (a) is right and (b) is wrong, (4)  (b) is nght and (a) is wrong,

".... her blue eyes never wavered'.

Choose the word nearest in meaning to the underlined one.

(1) waved (2) snickered (3) advanced

Having looked at his mother, Alfred was :
(1)  pleased (2) surprised (3) shocked

. her humility made her falter....

Choose the word opposite in meaning to the underlined one.

(1) intrigue (2) hitch (3) pride

P. i
Sl [ TTETTTETT 31
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(2)  Both (a) and (b) are wrong,

(4)

(4)

(4)

hesitated

scared

frankness
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Read the extrac given below and answer the questions
All the world Is a stage,

And all the men and women merely players

Thev have their exits and their entrances,

And one man in his time plays many parlts,

His acts being seven ages. Al first the infant,

Mewling and puking in the
Then the whining school-boy, with his satchel

And shining moming face, creeping like snail
Unwilling to school. And then the lover,

nUrse' s arms;

Sighing like a furnace, with a woeful ballad
Made to his mistress” eyebrow. Then a soldier,

Full of strange oaths, and bearded like a pard,

Jealous in honour, sudden and quick in quarrel,

Seeking the bubble-reputation

Even in the cannon’s mouth.

100. Identify the figure of speech used in the first line. —
(1) Personification (2) Hyperbole (3) Simile (4) ctap

101. ° thetr exits and entrances......

Metaphor

The figure of speech used here 1s ¢

(2) Hyperbole (3) Simile (4)

(1) Personification

102. Why is the lover’s sign compared lo a furnace ?
(1) He offers warmth 1o his beloved. (2) He is writing a ballad.

(3) He gets angry very soon. (4) He feels emotionally charged.

103. A soldier is jealous about his honour as :
(1)  he is ferocious like a leopard. (2) he wants to win at any cost.
(3) he is jealous of his enemy. (4) he is very sensitive about his honour.

104. What do all men and women do ?
play outdoor games like football, cricket, etc.

(1)

(2) fight wars

(3) perform various roles in life

(4) indulge in indoor games like chess, cards, etc. '

105. A school-boy :
(I] likes his teachers. (E, hﬂ'lh (3) arvl (4)

is reluctant to go to school, (4) looks beautiful in the morning,

(3)
|
p-1 NNNEINDRIE 32
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i;n':i

108

!

hoone of the followine 1
Whi WS NOT true abouyy using the hbrary at the primary level /

The [ibvary '-h“llltl LATR] | Just by SUCN e ' st
A storape

1II'.'i.'III. o Jawy !,'In- H'I-‘ 4, I.I.t"l"’I

Can also modM e,
2)  a read-aloud of the teatbog), n

(1) tea hers and othey adults
u'|lt'|;.'. behaviour in the Libhraries

L l*ﬂk[’,.ihnp ity o library
A vanety of
(4) as an active environment tor eny

(1) learners can be exposed 1 ~
Wres ol chaldren's Wterature

n]‘;t'nﬂm!-kvilh books

Which approach/method doesn’t |
‘-];‘_ﬂ\i -‘

(1) Direct method

“W"Tﬂ}':? lrarmers to use their native langauge tn a language

-
. (2) cAudio-lingual method
(3) Natural il]"lpnjﬂrh 1 | o~
( ) CUII‘IIHUHh Alive ;lp;'trt\m'h

Which one of the tollowing should be mastered to be literate ?

(1)  Decoding and language comprehension.

) Ac Cy | I
(2} Accuracy and phonological comprehensiog,
(3)  Phonological awarencss and fluency.

(4) Sight vocabulary and pattemn recognition.

To create an inclusive, welcoming and

Et achtiuvmg the competencies outlined in lhi;_" National Curniculum Framework (NCF) can be best
ane by ( )

(1) displaying children’s work from differeat.Homains of development,

- ’ﬁ..'
(2) decorating the classroom for o colourful f-lwtnmnwnl.

joviul environment that supports every child's participation

B ey

(3)  conducting indoor activities and .v:nier:-tlu-m trom cutdoor activities in scorching heat
y .

(4)  majorly focusing on the learners gmdhfvnlth and well being.
()

. Which approach/method is geared towards }HEJD&HH'I"R mam goal of using language in a real-life

context 7
(1) Direct method (2)  Audio-lingual method

(3} Natural approach (4)  Communicative approach

A student of clasgs V savs, “1 P‘i\'u my work a final check for .IL'L‘HI’.‘!L'}' before ﬁil["millin}' it to the
teacher” The student is working at the writing stage of |

(1) Proof reading (2) Peer-evaluation
(3) Drafting (4) Re-drafting

‘ e L] I - ¥ - i L ’ = [
- Athird-grade teacher wishes to establish a reading comer in her class, In making the judgements
eme

. _ - ) '
for selecting a children's book, which one of the following questions would be mos
M ' L. most important to
“Considered first ? 1.0)

(1) Will the books help address the poals E{L‘ﬁt third-grade reading, curriculum 2
) wiy these books be appropriate for usé, i more than one instructional context ?
) Are the authors of these books wull-LtL'ﬂ;\'n and respected authors of children's Iiterature ?
W) Are the books written for the t'n-.lvpvn&il_ﬂ reading level of most students in the class ?
(_J
LAY - K
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Materials

hing,
il criterion

13, A teacher is planning to collect a variety o Ten
ade or locally

students Which one of the following, is NOT avors
. Cm
The matenal chosen -nlwuhl I |"H'|I‘tﬂl‘|\ Iti' *‘”7‘

(1)
allow for easy replacement. - inly and have
. o«
{:, l']"_ t'”.'l[l'rlﬂl ‘ ]'n‘l‘-l'l"l .""“'“Ill Ihl mll'ill‘ t".r lhl‘ llllill!l" n .
slipperniness ~ | dre
— o for childre
(3) The matenal chosen _"-hnuhl be attrachy l‘_ﬂnc.! salc fe ties for the
et din . WA irtun .
(4)  The matenal chosen should provide “"‘f’"’f"; i

experiment with curiosity.

A teacher in class 11 asked her leamers to < U s
This type of actiy

] _ . ol ?

using the word ‘can’, ¢.g can VOu swim | e
(1)  Free speaking (2) Passive listening |

-y . ' ‘

(4) Controlled oral prac tice

(3)  Oral fluency practice
115 I-ih‘fﬂf‘_\- I‘l_'.'ll'hinﬂ ﬂppn'hufh lhi“ l'mr‘hﬂﬁlﬁﬂ ”u'. e | ! "
(2) phonics instruction

(1)  situational approach
(3)  whole language Approach

116. Which one of the followmy is NOT correct about te

114.

lationship between le

(4) grammar translation

aching grammar

Provide practice in communication.

(1)

Ta y T r
(2)  Learn prammar by memorizing its rules.— |
(3) Promote genume communication. -
(4)  Elicit relevant rules of grammur. w

(2) Technology Principle

117. Which one of the follow
(4) Presentation Principle

(1) Concrete Principle
(3) Curriculum Principle

116. Children in the foundational stage are m
they trace or wnte letters repeatedly in their notebooks,

(1) | |
(2) they focus only on developing fine motor skills.

(3) they sing rhymes after the teacher.

(4)  they use multiple senses and actively use their hands.

Which ane of the following statements is NOT correct with respect to

119.
Gontence © Rhymes, songs and chants are ways for children to :
(2) enhance expression and

(4)

(1) practise pronunciation.

(1) extend vocabulary,

. .ﬂll"lﬂ"}: ”
-t foor ¢ hoOstng,
‘1‘|:Illﬂ"ll', -‘-‘i lill‘ hil'pql__.

( )| . stio
ask thetr partners five ques .
il"' ‘lnhﬂntt‘!; i

(TEM) for his ¢y,
TLMs? :

SOME roughness g Funy,

n of this age group 10 use,
children to exploge 2,

ns about their abilis,

tters and sounds is

effectively 7

ing is NOT the principle for textbook design at the foundational stage|

ore engaged in learning when :

the given sentence ?

the rhythm of sentencs

memonze words and sentence structure.

120. A teacher asked the learners to exchange workbooks and check their partners work. The object

of this task is to: )

(1) pive controlled practice of structures. !
(2)  develop the skill of peer correction. -
(3)  pgive practice in extensive reading,. [,‘ )
(4) give practice in using new vocabulary. ( ”

3
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PART -V
LANGUAGE -1l : ENGLISH

Ti“t{)]{‘[',\NT : Candidates should attempt questions trom Part-V (Q. No, 121-150), 1 they have
N

ulﬂﬁl for ENGLISH as LANGUAGE-IT only.

i

Read the passage given below and answer the questions that follow. (121-128)
But the Lion went into the forest and tound his own supper and no one ever by
he didn’t mention it And the scarecrow found a tree full of nuts and filled Darothy's buasket with them,
«" that <he h't.‘uld not h‘ hun}:n' o a lﬂﬂ[‘: lll‘ﬁl.'. She lhnu“hl Lhis was very bnd and thuuﬂhlhﬂ of the
warevtow, but she lnutﬂu'd heartily at the awkward way in wlhuch the puu:.-.'n'.ltun* '["n'l.f*d up thie nuts
His padded hands were so clumsy and the nuts <o small that he dropped almost as many’ as he put in the
lashet. But the scarecrow did not mind how long it took him to fill the basket, tor it enabled him to keep
away from the fire, as he feared a ‘-P.‘Iﬂ-; ﬂllghl et into his straw and bum ham up. So he I.q-[!t a }:u;'u!
Jistance away from the flames, and only came near o cover Dorothy  with dry leaves when she lav
down to sleep. These kept her snug and warm and she slept soundly by until morming
When it was davhght, the garl bathed her face in a little nippling brook and soon after they all
started toward the Emerald aty.
This was to be a wonderful day for the travellers. They had hardly been walking an hour when

thev saw before them a ditch that lay across the toad and divided the forest as far as they could see on
|

v what 1t was, tor

either side. .
121. Which one of the following statements is true ?

(1) He shelled the nuts for Dorothy. (2} - Nuts mostly grow on bushes.

(3) Scarecrow is not caring. (4)  He knows that the nuts are good for Dorothy.

1

122. Which one of the following statements 1ot true
(1) He decided to hunt his prey. |
(2) Dorothy felt amused at the way Sﬁ'ﬂré'ﬂm\' gathered the nuts,
(3) Scarecrow was afraid that the Lion might kill ham,
(4) Lion could not eat the nuts gathered by the Scarecrow.

123, Study the following statements

(a) The Scarecrow gathered nuts as the tree was full of them.,

(b)  He feared for his hite so he got busy in gathering, nuts,

(1) Both (a) and (b) are right. (2) Both (a) and (b) are wrong,
(3) (a)is nght and (b) 1s wrong. (4) (b)1s right and (a) 1s wrong,

124, Study the following statements

(a) Dorothy was obliged to the Scarecrow.

(b) The Scarecrow vanquished his hunger with nuts.

(c) He gathered so many nuts that no ont would remain hungry,
(1) (c) and (a) are wrong, but (b) 15 right. ./

(2) (a) and (b) are nght but (c) 15 wrong,.

(3) (a) and (b) are wrong but (c) 18 npht. |

(4) (b) and (c) are wrong bul (a) is rip,'ht. _

125, No one ever knew whatitwas. ™
The underlined 1s a/an clatise. o
(1)  Adjective (2) Adverb |~~~ (3) Principal (4) Noun

P-L BN 39 K
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R AR

12 .
B They bept her Sl |
The underlined word nearly means the sarfic b | (4) ORSY
(1) comy (2} sordid | ”I' diz2y
- - : .
127, Which ol the following statements RV ““""
(1) He kept the Lion away from Doroting )
N
{ 21

{2) Ll 1 .
| -'”'“I EI, lj.“;k"i ‘-fl'l' |'1L|'l!’1

s |
(.4) The Scarscrow wins ||ru|-|‘h'.1f||‘l|

as e ll‘li'll't! the
He helpedd Dorothy o keep warth al '_'_]_rl;l.."'

| )

128. shee waould not be hungry

The undetlined word s a/an
Interection

(3) Preposition (4) Adverb

(1) L ormunction (2)

at follow. (129-135)
4t Jdo vou think is the most impary,
or any other -
i:i. the most important I-ll'uh:.;.l
ough, but if you hear them, 4,

Read the passage given below and answer the questions th
E . ¥
Usually the first gquestion [ ash a newbe birder 1s, Wh

i [l f i :'I'*,l
ph'i sical \llJI‘-Ttt' {8 be o I"‘Ih.ll'! ; Wits, YOUT Ars, your nu
Most often, the answer s eyes”, but several do home into what
Hlﬂlllln}: hirds i Il"'hilﬂl‘ IS hﬂal'd cn

Youur o

least, according o me  Vour ean

know they are there | .
oy . . first bird call Th

A : .d flameback, earlier knoy
left the house for my walk was the madeap rrnglﬂg-h’iunh of black-rumpt d flamet ;;le. it }T AT
52 ] ! T g
the golden-backed woodpecker It was a wild, exnitdnt laugh that sel the tone and mood tor the et
dav. And then | realised that every bird call wuk}*f a different reaction, memory or emotion n

ople in Delhi-always ready to argue
not to make sweeping generalisaton
they have meaningful civilie

listener :
| )
ariably remind me of pe

Indian mynas, for example, inv :
a fipht. belhgerent and 1n your face. et I‘u_-j.'[tuu?ﬂ*lt me

perch on the window ::':I['_u.ntllhf alternoons,

pich
wmour and affection in their voices.

because when a patr
canversations with cach other. There is inquiry, I

129. ‘The first bird call I heard as [ left the house..

Fhe underhned s a/an clause,
(1)  Adjective (2)  Adverb (3)  Principal (4) Noun

130, Study the followny statements
Different chirpings of birds evohbe different emotions in a birder.

(a1)
(b)  Sometimes birds make thewr nests hidden from public view,
(1) Both (o) and (b) are right. (2) Both (a) and ([1} are wrong,
(3) ()= right and (b) i1s wrong,. (41 (b)1s nght and (a) is wrong,.
131. * ... belligerent in your face. ‘__'
sdad )
”h‘ thl!‘!lllh‘l! word tH‘;III*..‘ Maeans []1.- qﬂn-ﬂ*’ﬁ .
(1) mush al (2)  difterent 3)  hostle g
— (1)  noisy
132. ‘It was a wild exultant laugh...’ [_)
The underhined word 1s a/an - { )I
I Adverh (2)  Adjective : N
(1) : ) r_nl k"c{“..ln (4) \’l‘rb
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lﬂ'l.r'lflﬂ-‘”.ﬂ

faculty . 2
them, vy

}“"Ir" a1 ]
" knowen as
I Lh-l-" -I'nt:r{

1N 1n the

argue and
ralisations
l L H‘“Hl‘d

b

lh.! ol h'll‘l‘! . Y
‘ Wi Jrm er havg i-h.‘\rp CArs )
) (1 One can casily logape them |
: . M thety
) Thetr shnll -hlh-l_mﬂ AN el on, hat hlriﬂn;‘r
q)  One can easily: distingyjsh ), i m .1I they an in danges
. « s - . = . g na ]n »
(4) The binds greet eachy other with the § calls
II: . I wy 7 e “t”fﬂinp l'ﬂ”'i
tWho t& 8 Biraer '
'.“ 1) One W ho rears the h'"d.. .
) one who catches the birds () one who hunts the birds
' 0ne who watches the birds
g Sudh the tollowing statemenyy -
at :
' The writer approvies .
o dran my . °f the condycy of Delhj people
() Indian mynas are pencerally known for the pe.
(¢) A myna couple can also be lound ir noisy quarrels.
iy U emovin \ ",
(1) (@) and () are right by, (b) is “‘rnrupi Ving themselves,
B (0 and ) are srong bt (0 1 g
) () and (b) are nght but (¢) i wrong,
. ! |
4 (b and (¢) are right but (a) is wrong
,
 Onc ol the best way to learn a second language s -
by repeating and prac . A ' '
{El . 1.P ‘ h“ LFI']{ tlL‘lﬂH thl dh‘lﬂguﬂ as d"““ in ”'H.' ﬂlldin"”nmhﬂ mt-thm]_
i-’ ; 1 1“"1}__, ilI r"".ﬂ lﬂg COrse fur lhl} hf}:tt lﬂﬂ}*uilj'l'.
3 1Ny In a classroo ‘here v . . :
(3) h X t‘ Assroom where vou can focus on the srammar and receive help from a teacher.
' oonstant co "1 o \ .
(4) \ ant contact with native speakers in their own society.
E ] i | L]
g, I chuldren hear two I‘_’“ﬂ““ﬂ” spoken around them, this exposure will :
(1) not make any difference to the children.
(2} confuse the children, hindering understanding.
(3)  put the children at a disadvantage.
(4) put the children at an advantage,

The students learn patterns of language by repeating model sentences that the teacher provides.
They memorise set phrases and receive positive reinforcement from their teacher when they perform
the dnlls correctly. The teacher is using the :
(1) Total physical response (2)
(3)  Audio-ingual method (4)
This reading has certain learning aims and tasks, leamners are supposed to read the text in detail
with concentration and due care, It is called :

1) Guided reading (2) Pleasure reading

(3)  Extensive reading (4) Intensive reading

Structural approach
Communicative approach

. Al the beginning of the lesson, a teacher divided the class into groups and asked them to talk about

an interesting newspaper article that they had just read. This type of speaking activity is for
enhancing :

1) Guided oral practice.
) Oral fluency practice.

Active listening,
Controlled oral practice.

(2)
(4)

. G!]Idr{rn'ﬁ fﬂ};nith‘v tlt".'{’.']ﬁ[‘mfnl and Iﬂl'lﬂ'llﬂg't' .

() dl'\'t'lnpmvnl bear no relationship. o + |
) s closely related to the culture and the community in which children live.
. * . - - -
() is related 10 the principle of linking stimulus-response and a process of imitation.
q L I T £
(4) is that an individual is born with a tool to master the language.

W o
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scher should most importantly focyg -

142, To

ANsess reading skalls at primary level a language te
(I) h'ﬂlllﬁﬂ al a proper l-.l'u‘t"l!

(2) reading wath understanding

(3) ientifving the letters of alphabel.

{'l) use of I‘lll"ll'tll-ﬂlﬂ” mark.

143. Whole language approach is ¢
(1)  Blends sounds (2)
(3)  Meaning based (4)  Skill based

144, A teacher ashed the students of class V to read the story quickly
order. The purpose of this ac tnritj.' 1s o ‘
(1) pive them practice in reading for specific information.
(2)  revise the new and ditficult vocabulary ol the story.
(3) arrange the picture cards.
(4)  gve them practice to reading for the gist.

145. “Language learmmg s an mtense process that begins al birtl and
Do vou apree or disagree with the above statement ?
(1) 1 partially agree wath the statement.
(2) | partially disagree with the statement.
(3) I agree with this statement.
(4) 1 disagree wath this statement.

146. Assessment tools and processes at the foundation stage should be designed in a way that :
(1) learner's progress is descnibed and analysed with that of th overall class performance.
(2)  a teacher may use common single method to assess the achievement of all the leamners.

Infers a .*-uund-h'}*mhﬂ relationship

and then put the four Pictures o

continues throughtout life.”

(3)  explicit tests and examinations become appropriate for learners.
(4)  they become a natural extension of the child’s leaming, expenence.

147. Leamners are memonising grammar rules and vocabulary and large amount of work is done in thei
mother tongue. Which method is being used by the teacher into his language class ?
(1) Communicative teaching (2) Grammar Translation
(3) Direct method (4) Natural approach

148. Along with print books and audio books the books that engage the tactile abilities of young childrer
should be a part of the classroom because :
(1) 1t makes books more accessible to diverse leamers.
(2) these books will not overly burden a teacher.
(3) it bnings vanety to the class and children love variety.,
(4) it gves autonomy to teachers to use different books for assessment.

149. A big challenge in learning to read is [inding motivation and good children’s literature. To overcom
this challenge :
(1)  Provide easily accessible Children’s literature to motivate and generate interest in reading
(2) School authorities must take learners to book fairs to generate molivation and interest o
reading books,
(3)  Teachers should motivate them to read a book everyday as homework
(4) Encourage parents to establish a small library at home. .

150. A good speaking activity is the one during which :

(1) learners talk more (2)  participation by outspok . ——
' ) ens maximus
(3) teachers explains more (4)  leamners listens mnrepo aiainin
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